
4th Grade

Module 5

Lesson 35

Eureka Math 

At the request of elementary teachers, a team of Bethel & Sumner educators met as a 

committee to create Eureka slideshow presentations. These presentations are not 

meant as a script, nor are they required to be used. Please customize as needed. 

Thank you to the many educators who contributed to this project!

Directions for customizing presentations are available on the next slide.
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I can use the associative property and visual models 

to solve problems.



Add and subtract

676 thousands 696 ones + 153 thousands 884 ones=

300 thousands- 134 thousands 759 ones=



Count by...

Count by threes to 15, starting at 0

Cont by three fifths to 15 fifths starting at 0 fifths

When we get to a whole number say the whole number.  

Example 5 fifths say 1!



+ / - mixed numbers

5 5/10 + 3 2/10=

2 ⅗ + 2 ⅖=

10 7/10- 5 4/10=

6 ⅜ - 2 ⅞=



Application Problem



Associative property to solve

What multiplication sentences could we write to show

4 COPIES of 3 centimeters?

4x (3 centimeters), the parentheses show that 3 is telling 

the number of centimeters in one group.

We can move the parentheses to show how many 

centimeters are in all.  Show me where you would move 

them.

(3x4) centimeters, how many centimeters do we have? 



Associative property to solve

We can use the same process to solve, 4 copies of 3 

fifths.

What number sentence would we wright to show this?

4 x ( 3 fifths)

We could use the associative property to help us solve.

We can move the parentheses like this (4x3) fifths.

What do we get when we solve this?

12 fifths

Here is a tape diagram that matches our work



Associative property to solve

4 x ⅗
Say this in unit form.

Discuss with your group if these number sentences are 

true

4 x (3 x ⅕)

We can move the parentheses in this problem too!

Watch how I do it

(4x3) x ⅕.

We then multiply 4x3 and 12, then multiply 12 x ⅕
and 12/5!



Associative property to solve

5 x ¾

I can think of this problem as (5x3) fourths or (5x3)/4.

How does this help me solve the problem?

What is the answer to 5 x ¾ 



Associative property to solve

5 x ¾

I can think of this problem as (5x3) fourths or (5x3)/4.

How does this help me solve the problem?

What is the answer to 5 x ¾?



Problem Set



Debrief



Exit Ticket


